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Attempt all questions.

Pick the correct answer and make a mark “®” in the circle provided in the answer
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LS P A > R F R Y SR T SR B R P T L i A 0
The rise of online shopping is gradually changing consumer shopping habits. Which of the following are
not competitive advantages of online shopping platforms?

(A) Fiimid pig
fast information dissemination
(B) 24| P¥ PR A%
24-hour service
(C) A& &Hfei
product standardization
(D) &= 2 h &4
reduce transaction costs

2.(a)A e S AN FRE SRR A TEY p A g ok aniRg o Adde
IR

Social media influencer A has noticed the rapidly growing business opportunities in the bubble tea market and
decided to leverage his high popularity and large fan base to launch his beverage brand.

(b)A floftbptand AR 2 1E » F RPN £ 0T B g AR ae 5.
Because A is not familiar with the beverage production process, he partnered with a beverage brand to jointly
launch their own branded drink.

R &E B SWOT & 245 ¢ ahife 8 1% ?
According to the above scenarios, which respective type of strategy in the SWOT crossover analysis do they
belong to?
(A) ST ~ WO 9%
Strategy ST, strategy WO
(B)SO ~ WT
Strategy SO, strategy WT
(C)SO ~ WO w2
Strategy SO, strategy WO
(D) ST~ WT R ;
Strategy ST, strategy WT

3. @t B R & RATIRA 1

The manager of a chain coffee shop asks his new employees to:

(@) FIIRT F ~ PRAFIAAR > BAT P P R B E - R
To be consistent with the headquarter’s requirements on the dress code, service procedures, and
promotion instructions

(b) RH 4B fF 8licae i g 34 R F 2 2 ek
Internal staff is responsible for making drinks and meals, and external staff is accountable for food
delivery and cashier

(c) & RATe X R SR HPNdpEEp N g <
For a quick start, recruits must refer to the company’s manual

R Atk BB RS Y RA?

Which of the below orders best describes the company’s operating principles?
(A) &% « & ¥ i -« @ H v Standardization, Specialization, Simplification
(B) i3 & iv ~ LB~ % E (L Simplification, Standardization, Specialization
(C) &% i ~ 8 H v ~ % #1{* Standardization, Simplification, Specialization
(D) & i+ ~{E% i - 3 H v Specialization, Standardization, Simplification
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4 THPFFALE BT EPF LD TLXPFPHUSP MG XA E FTARE D
Ping An Wholesalers is a hardware wholesale company in a certain region. Which of the following
functions does Ping An Wholesalers not perform for manufacturers?

(A) "2 M ARES A
Reduce storage costs
(B) # &g 3 PRIR
Provide financing services
(©) AH A &7 3 B
Separation of production and sales, each performing its own duties
(D) A2t B R &
Assist in transporting goods

5. A4 B-RMS5,000 5 » 827 > § o FHEFFE 10% 0 53x4 & o F & U438 G 48
BomAATUBY SR D
Mr. Chen deposited RM5,000 into a bank with an annual interest rate of 10% for a duration of 4 years, at

compound interest every year. How much will he get back after 4 years?
(A) 7,000 (B) 7,120 (C) 7,200 (D) 7,320

6. EZ]%jx AEIETERFT AN RM4348F ~ > HEFA9F RM 14343~ > ;i f f 95 RM
684 3 ~ > P
Last year, Cathay Life Insurance had approximately RM 43.48 million in current assets, RM 14.34 million
in fixed assets, and approximately RM 6.84 million in current liabilities
(A) 7nd st X 5 0.16
The current ratio is 0.16
(B) ind it 4 6.36
The current ratio is 6.36
(C) 4k in g Lefind 5520 27 EH FF a4 @&
If the current ratio of the enterprise is greater than 2, it indicates that the company has strong long-term
solvency
D) FEE4A0aBa- 7 gt HRin
If a company suddenly encounters an unforeseen event, it may be unable to repay its debts

T.ARNP 550 ¥ mAFREFEY SR  THREEAY ) FEF LDORALY
Given that many companies in Malaysia are small and medium enterprises, they often faced limitations in
development and management. Which of the following is not a common issue for SMEs?

(A) # £ %4y mHl &
Lack of a comprehensive management system
B) F47 %L
Insufficient funds
() #¢ A g
The trend of green products
(D) i s BALFE
Technological upgrades often encounter bottlenecks
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8. £ F WA UTH »ATASAATRIBAFFEE > » A R Ed L ?
What are the main reasons for enterprises continuously investing in the research and development as well
as the implementation of new products or services?
(A) P8 ATA S ATIRIEAT4L 7 a0 A (i
The cost of developing new products or services is low
(B) ATA & & ATIRIHIL ARy JEH 3 Fanile
New products or services often gain market recognition
©) #H~ fFedirhicadi Fud
Expand the product portfolio offered by the enterprise organization
(D) FEF-F En LY Fj e 22 FEE
Ensure that the enterprise can maintain its competitive position and sustain profitability in the long
term

9. 1A~ 1 IFRP T HLITRpE A4 ThERY L1 5T AN Z ¥ it Pf T m?
Job analysis, job description, and job specification are important tools in human resource management.
Which of the following statements correctly describe the above three terms?

L. 1TSS FESB 01 TR 3
Develop or revise job description based on the results of job analysis
IL. Ik f%#ﬁ,%@@f’?l RFAR S
Conduct job analysis based on job specification
M. 1 FHRPFTAHNIFLAR T PREG oA RiER
Job description will outline the essential qualifications that employees should possess
IV, 1R FEEr T RREAT P id M2 3P ARRRGEE L (Faip
Job specification explain what employees should do, how to do it, and why the job is done

(A1 B LI O L 11, 11, IV (D) 14+ % 2£ None of the above

10. BT Ef7 Fafng - r”—‘ﬂk I FE ?

Which of the following concepts is correct regarding the financial market?

A PP HFEEFEDFT £ 5
The money market is the market for raising long term funds

(B) st HAF f heend B A hREE (blackrr » 2 5) Eri- b
The foreign exchange market is the market for buying and selling foreign currencies, where foreign
currencies (such as the Singapore dollar, US dollar) are the only foreign exchange

C) FAPHe gREFF~FEDFEEGD HF
The capital market includes the stock market, bond market, and insurance market

(D) £Fima # FEF § 72 S0P 5> NRELERIHE

The financial derivatives market is a market for buying and selling derivative contracts, which can
provide arbitrage opportunities for enterprises

11. _E;'JIF’ 7-5—";? ‘E_fof mij_?
Which of the following is not a benefit of retail channels?
(A) 34 i o i 5
Increase logistical distribution efficiency
(B) &g % A enEid
Positive communication with customers
©C) F&apiis
Increase in product prices.
(D) 3 4c 7 &8 PRIF M4
Increase in the added value of products and services
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13.

14.
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TRHEILEOFE RIS Y FRE oY o Mt H ehiif 7 L A2 7 Purchase order is a
document required for commer01a1 transaction in enterprises. Which statement about the purchase order
is correct?
(A) & § >3
Issued by the seller
B) 73 F 55"
Only in written form
C) §7- TLEERF SHRERFEP
The seller always requests the buyer to provide a bank conﬁrrnation letter
(D) ¥ 2% g i H P pits - R SR HREHL 3] o 2 2 Wb b
When the parties agree on the content of the purchase order, the order can be transformed into
contracts between the buyer and the seller

B A efrrR sAREEFEAT I T oL A XL - Y HDL S ML AR
T AR F] T FE?
Against the backdrop of consumer upgrades and the rapid development of online finance, installment
payment has become a common payment method. Which of the following statements about installment
payments are correct?
L. A A Ty A& R

Own the product before paying off the amount
L FE*2hreadu g 2veris

The seller can reclaim the product if the buyer fails to fulfill the repayment clause in the contract.
I # - faiicp 1 AhiE L

It is a form of receiving goods before the payment
IV, # 2 AdERRR "G a4l §

The seller bears bad debt risks to increase sales

(A) T, 11, 111, TV (B) L 1II, IV (C) I, 11, IV (D) 111, IV

L LR 79
Dishonored cheque refers to a cheque that a bank refuses to cash for some reasons. Which of the following
is not a reason for a bank to dishonor a cheque?
(A) B E A G Rtk P 3303 &
Insufficient funds in the drawer's account
(B) & 2R iS4 A2 120 = 4 w4
The cheque has not been cashed within 120 days after issuance
(C) * &7 B4
The cheque is damaged
(D) M E A& RFE L A
The drawer requests the bank to stop payment
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16.

17.

18.
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e+ (DebitCard) frfz * + (CreditCard) & f& 4 Lehdt 1 & » T 7 M0 P engeit - @
Debit cards and credit cards are two common payment tools. Which one of the following statements about
them is incorrect?
OEETFEISE S
Both cards can be used for credit consumption
(B) i 1E+ UGBt A IR S AR 2 F U B g TR AR
The spending limit of a debit card depends on the balance of the account holder, while the spending
limit of a credit card depends on the approved credit limit by the issuer
(©) #*ip*F o § o gL
Interest on installment payments made with a credit card is calculated on a compound interest basis
(D) & % % BT+ 4
Both are forms of electronic payment

_ggg\.g_&]—g& A e i ?g—"ﬁ &R T Iﬁﬁgﬁ fo TAVR— B ERE B LIRQ

To achieve the goals of an organization, managers must perform four management functions. Which
sequence of functions is the most reasonable?

(A) 3]~ A% ~ =% -~ ¥4 Planning, leading, organizing, controlling

(B) ‘s ~ Ap 4~ R3] ~ 474 Organizing, leading, planning, controlling

(C) &l ~ s~ 4p ¥ ~ 374 Planning, organizing, leading, controlling

(D) s ~ ]~ 424 ~ 42 ¥ Organizing, planning, controlling, leading

SR L S L P

Which of the following is not an unethical conduct of a business?

(A) RATE2PIEGFELIFRF AR OFR, THEDHTG, BORY RER
A new company refuses the request for joint negotiation of production and sales order by peers, insists
on independent pricing and disrupts price agreements

(B) 2 MEFFH AL THHAE, A REFF E, LHFEH [ EfHFL K
A toilet paper manufacturer anticipates a price increase shortly and temporarily withholds shipments
to stockpile toilet paper in pursuit of economic responsibility

(C) FFAFEIF2FE R F A BOPTFTANMNS A BB REEFTA LT
The second-generation head of a listed family company transfers company assets to specific family
members at below-market prices

D) $# 5 pHARFRTET LR - J L HRFFHI I BRI LR LT G
Several driving schools in a certain area implement a mutual aid fund system, where larger driving
schools subsidize smaller ones and jointly set tuition fees

R S iy ff"'ﬁfkfféi?
Which of the following statements is correct?
(A) BF LN FAHEERAT L R UF &
The investor in a sole proprietorship is liable for the business's debts with unlimited liability
B) EPLELEFEATR
A partnership has the status of a legal person.
C) EPLFEDEP LI L2440 g1 UL
A partnership must have at least 2 partners, with no upper limit on the number of partners
D) %G A2 FPHEEFHRF EFLRFRVFAT =
A company limited by shares is jointly and severally liable for the business's debts with unlimited
liability.
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19. Google 5 5 i* 2™ F £5 4 > 3 2015 £ = = #7927 Alphabet » Google B & & /3 3t 55 3 it A&

ESRI Nl ARSI AN s S U o
Google strengthened its business operations by establishing the holding company Alphabet in 2015, with

Google focusing on its core internet business. Which one of the following statements about holding
companies is incorrect?

(A) grFe02 PG 2 B Mk iR
Controlled companies must disclose their financial conditions

B) — 2P 7 NHES2F NP ol B fES SRR
Companies can become holding companies by establishing subsidiaries or acquiring other
enterprises

C) W@ 2 5 By P enff iz f
Holding companies are not responsible for the debts of their acquired companies

D) - BeEHF7 His FF L ENL A RSBAKRE 50%0 e & S fpna P
A company can become a holding company by holding more than 50% of another company's ordinary
shares or preference shares

20. #& 5 (BillofLading) ff#£ B /L> ER%E ¥ % ¥ cng & < & » 10T ol B4R H e 38 9
A Bill of Lading, abbreviated as B/L, is an important document in international trade. Which of the
following are the purposes of the bill of lading?

21.

L.

II.

II

RHEE-ffrEagE
The bill of lading is a document of title to the goods
AV A &R AP DH IR
It is a document certifying the origin of the goods
L HRP [ fe Rosal
It is a list detailing the packaging of the goods

Iv. H:8 @?J & Qe

It is proof of the carriage contract

(AL 1I (B) I1L, IV (O LIV (D) I, IV

A B AF 4 FIE Y (deficit budget), T 7w I Fx 7
A country is implementing a deficit budget. Which of the following is correct?
L ¥ G A%OPF g H* Ry
It is a strategy usually adopted by the government during an economic recession
IL ¥ Erchrs 7 il o P ag g
It is a strategy usually adopted by the government to curb inflation
II. 2% ez v 121 B freA) S
This strategy can be implemented in the form of tax increases
IV, 3% R0E 7 00 U8 Ao s frfB L enAf s 0%
This strategy can be implemented in the form of increasing government expenditure
V. 2 ¢80 PFERSs
It will not be implemented simultaneously with monetary policy

(AL, IV (B) I1, I1I (O)IL 1L, V D)L 1V, V
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22 mPFFHE3IERLE - 2B ERMS0000 0+ 4> 2T E X PR BAITRFTRAERAEAS 5
H3E S PJFHEPF10% > FERE - WAL > REEFRAELFELEDN T S RXPKFT ?
Chen plans to buy a phone worth RM50,000 in 3 years from now. To achieve this goal, he decides to
invest in a financial product with a term of 3 years and an annual return rate of 10%. The interest is settled
annually, using compound interest. How much money does Chen need to invest now?

(A) RM16.667
(B) RM35.000
(C) RM37.566
(D) RM38.462

23 ER AN EE XL L AT AT Ak pdad A AR B RE T i S TR E D
ALg B R b g R A
ASUS Company launches environmentally friendly laptops, emphasizing on the reduction of carbon
emissions in the production process of the supply chain to achieve environmental protection goals. What
is the above business activity known as?
(A) ¥ X & ¥ P47+ Managing corporate finances
(B) % ¢ 4 & Green production
(C) ¥ ¢ i # Green consumption
(D) i J&4&E 2= Supply chain management

4. AP EERMEAST B RG ABLTASTLAETR RSB L) F F - A AEL?
Before consumers make a purchase, it is the obligation of the seller to provide accurate information about
the products. Which fundamental right of consumers does this satisfy?

(A) PR 4] The right to service

(B) :E# 41| The right to choose

(C) #¢ i crfE | The right to redress and remedy
(D) 44 xvefgf] The right to be informed

25. 3 M EGE R A R 0 T oA faﬂﬁik‘é’i?

Regarding protective trade policies, which of the following statements is correct?

(A) MA2s #= AFA SN - L
Tariffs are imposed to enhance the competitiveness of domestic products for export

(B) M4 Edn— WMt 2 B AP D B o #A S H T 8 RoE S
Dumping refers to a country exporting products to other countries at prices below production costs
or domestic market prices

C) EXx-BEPFP > s UT R R A STBRFEr § 2 50 0 f£5 fedf Setting a maximum
import price for a certain product during a specific period is known as a quota policy

(D) 5 EMAE R ARY FHF LA 2t &
Implementing protective tariffs will enable domestic consumers to buy cheaper goods.
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27.

28. i

29.
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TEX 2P PRI BRAS F§ 697 2P NCIFa) 58 2 5 B T 7l ft e L Fx 7
Ping An Corporation purchases cross-border products from Joyful Company, and it is specified in the
contract that the transaction will be conducted on CIF terms. Which of the following statements is correct?
(A) # 5 CIFiz—- RS § % iv:E

CIF is the only 1nternatronal commercial term
(B) 4 L apiB il > A manf ERFRTE AT

Once the ship leaves the port, the responsibility for the products transfer to Ping An Corporation
©) izaz \ﬂﬁ“*r’gi%/q FoRss

Joyful Company will purchase marine cargo insurance for the goods
D) Epd Tx o i

Ping An Corporation pays for the freight

T B B 4 LR g o K LR 9
Which of the following statements about personal financial management is correct?
(A) BERMHAHALERTEE 3 s FRLBY

Ratlonal finance means planning investment portfolios, excluding expenditure planning
B) Tk hplz - L&~ 50
One of the fundamental principles of personal finance is to live within your means
C) RFFPIFLRFTLRAT AR BA KT F
The investment return rate is the ratio of total assets after investment to the initial investment amount
(D) AF I3 HARIER > w7 - LGP
The more frequent compound interest calculations are made, the return rate may not necessarily be
higher

WA RF I BR A 2 iE o R BT ekl 0 R ST

Which of the following statements about communication is_incorrect?

(A) bR EFEF? CHATRHPRBIEFEFTABRLN F F D5 > ZERL L E D
In business activities, communication only refers to the act of businesses transmitting product
information to consumers, and this process must be one-way

(B) 3 ¥ g A5 A5 enA) 50 @it
Communication can be conveyed in tangible or intangible forms

©) R E- ﬁ‘g ESC
Advertising is a form of communication activity

(D) ep SR ~NALE ¢ A & i AR

The internet is a crucial communication medium in modern society

TR K B E it (direct tax) ?
Which of the following is not a direct tax?
(A) & i=4 Stamp duty

B) ¥ ?ﬁ" # Goods and services tax

(C) #*ri¥ 4% Income tax

(D) = & # Corporate tax

Page 8 of 15



30.

31.

32.
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gwﬁpiﬂa@ PEGE B BN BTSN RIF R A RA AP Y R B
7 eaps gp &

The product life cycle refers to the various stages a product goes through from entering the market to
exiting it. During the product life cycle, the period with the most intense competition is:

(A) ¥ »#/3 2 ¥ introduction stage

(B) = & # growth stage

(C) = # ¥ maturity stage

(D) % i2¥ decline stage

EFEMER e ARSI R F 51 TR FRA A2 # & T @HF E 7 Theenvironmental issue
caused by excessive packagmg used by companies to attract consumers violates which of the following
responsibilities?

(A) &A% = Economic responsibility

(B) iz & *;JL iz Legal responsibility

(C) %32 = Ethical responsibility

(D) p #*#* & § = Discretionary responsibility

Zf?L”fT# ENEFABER I RESE PO RAEERGERL PALLRD FFF AT R
r' / }\‘ ?

The tuition center often publishes student rankings and testimonials to convince customers that choosing
them is the right decision. What type of advertising mode is this?

(A) # LI+ AR £ Reminder advertising

(B) #PRIER 2 Persuasive advertising

(C) 2 =+ R 2 Informative advertising

(D) 4vsg 2R 2 Reinforcement advertising

33-34 % #7.%2 Questions 33-34 form a set

BI&Giélﬁ%Aé%’%Qﬁ@ﬁiiﬁbﬁ“”VAé&ﬁﬂ#ﬁ’f$4§A§V

AT G ’FK/;EAH RMI12,345 chfj 5k 7 % » 8 54 & — [%Aﬁrrgi\a%RMst\:ﬂk’
AAZFLTH RMS Pank 2 427 6,000 B A A&FT2 2308 0 g% 4 Sandf £ 1 frgb 45
9

P&G produces and sells Product A. To understand the profitability of Product A, a break-even analysis is
required. Regardless the production quantity, P&G incurs a fixed factory equipment cost of RM12,345
for producing Product A. Additionally, the cost increases by RM2 for every additional unit of Product A
produced. Product A is priced at RMS5. Currently, a total of 6,000 units of Product A have been produced
and sold. What is the break-even point for this product?

(A)2,469 i ; 2,469 units

(B) 4,115 # ; 4,115 units

(C) 6,000 & ; 6,000 units

(D) 6,172.5 ® ; 6,172.5 units
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34.

35.
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EARE N AR L SN SRR h Y
Which of the following information about break-even analysis is correct?
(A) F&elTHELEFezs A4

The break-even point is the optimal production quantity for a business
(B) A Z &z E £ RMI18,000

The total revenue of product A is RM 18,000
(C) A A St g £ RMS5,655

The total revenue of product A is RM5,655

(D) kw2 ARl §& AL HBEY RM3,000, i A & &df § T gk € :a %
If there is a need to pay a repair fee of RM3,000 due to equipment malfunction, the break-even point
of product A will change

TR JE G B TR e B2 X R ?

Which of the following statements about employee-employer relations is incorrect ?

(A) $pF 2@ F 3 2 Bl R % FER TR FRF
Refers to the rights and obligations between employee-employer, with legal provisions aimed at
providing more protection for employee

(B) £ %44 FRMP{ F1F5 4 857 Rl e
The human resources department of a company serves as a bridge for communication between
employee-employer

(C) +c B R chk » 2R
Enhancing the engagement of staff

(D) ~ F5s 1 £ %
Also known as industrial relations

36. P E S LTI HEA B FEFET LT L X TS FREL ML Bk T RGP AR

37.

JE et o TR SRR E AR D

In the event of a car accident between Xiao An and Xiao Ping, where Xiao Ping is deemed responsible,
Xiao An's vehicle was repaired first by the insurance company due to having comprehensive car
insurance. The insurance company then sought compensation from Xiao Ping. The above action is based
on what principle?

(A) & =P Rule of subrogation

(B) P& & | Principle of indemnity

(C) ¥ %148 % & B Principle of insurable interest

(D) 2+ % 2% None of the above

R 747 s a @ 45

The functions of the central bank (Bank Negara) include :
L. T 5 42{7 c742{7 Acting as a banker's bank

II. #% = 7330 Accepting corporate deposits

II. 4 7 b % Issuing currency

IV. & #'3#% % Securities underwriting

(A) L IV (B) L 11, III ()L I (D) I1, 11T
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39.

40.

41.
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3 AP (scale economy) ?
What is meant by scale economies?
(A) SEFH B ER 4 o H 2 for 2 5 4
As sales volume increases, unit revenue also increases
(B) “EF2 A EH e Hiohd AaiFr g
As production volume increases, unit variable costs remain constant
(C) ui%“ﬁ % Z‘é‘i‘éﬁ v oo H o~ £ ﬂf‘]"iﬂfiﬁi be
As sales volume increases, unit gross profit also increases
D) FFLATH v HFe s AadFr g
As production volume increases, unit fixed costs remain constant

AGETA B i RIEPRT D KARE T I ST H LYY F o el ?

The Volkswagen importer imports cars from Germany to Taiwan and sells them to consumers. What kind
of utility does this create?

(A) *Rm»x* Original utility

(B) ¥ = sz * Place utility

(C) A fg»c* Ownership utility

(D) FR3x»x*  Service utility

7 M %4t g & (Bonded warehouse) 2z #zift » T 5w ¥ G 3F 7
Which of the following statements about bonded warehouses is_incorrect?
(A) #F 4 2@

Owned by the government or private companies
(B) * i % AL &

Used to store taxable goods
C) BN FHFEEBET FH e p

Approval from regulatory authorltles is required to withdraw goods
(D) #73 i&Ev 48R LB G Fp L

All imported goods are stored in bonded warehouses first

1) F R~ ;E’ﬁ F&g'frf‘;; A 4LiF 0 ??!‘FF“" S ’F‘» Evda e _‘,i_m?
Which of the following statements about merchants applying for commercial loans from banks is
incorrect?
(A) RiFEERF AR LIRFTAP
Banks will require merchants to submit investment projects
(B) F 4 2 #5 1 cnip 4 Fok N
Merchants must provide monthly personal salary statements
C FAREREIPTALLEY
Merchants must provide company assets and performance
D) L FEEF L R2HRDT I
Guarantors must compensate for merchants' outstanding debts that cannot be repaid
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DRIFMRPLEERR L NFE o PEBE?

Regarding the factors in choosmg an advertising media, which of the following statement is incorrect?

(A) £$# 2 6R2MEEIY FHerw eI bame > 7 UERRRITER LN
If a company wishes to receive feedback and interaction from consumers during advertising, it can
choose the internet as an advertising medium

(B) $IR& A K 20 MHAFSE 0 B REERNAE RGBS A DA R
For the fashion industry, to highlight the colors of products, a company may choose to advertise in
magazines

C) TR *F P ECERTUREAETABELE S PP FP>NTER L
Companies that consider cost-effectiveness would choose to advertise product information to reach
most consumers.

(D) #HEF XA HRHF LY CEBRN2ABTMA LT AR I AL g HASFTR
Non-franchise convenience stores operating in township typically choose to advertise its product
information via national television network.

43, B e e R AT 0 - P IRE 0 PRE R e i RH o i
Miss Tsai's father purchased an insurance policy for her, so Miss Tsai is and of the insurance
policy.

(A) #'& X ~# % A The insurer, The insured
(B) #* A~ ~ 3~ A The insurer, The trustee
(C) 7B3= 4 ~##% & A The trustee, The nominee
(D) 4 1,5’.— A~k & 4 The insured, The nominee

44-45 #7.i2_Questions 44-45 form a set

L 4 S - B3R Ty 'Ml% B RM700 § 8 B > 2484 o s o ule ARG 2R E
RM400 @ 2 B &% = & 3 i% RM600 3

Mr. Chen operates a factory and owns machinery with a total value of RM 7 million. To safeguard against
accidents, he insured RM 4 million with Insurance Company A and RM 6 million with Insurance Company B
respectively.

44, FR AR L F L o MAL DI R S 2 B BT S U RRH? TR B fy it A
Which one of the following statements accurately describes the compensatlon Mr. Chen would receive if
an accident caused a complete destruction of the machinery?

(A)A =7 RM400 & +B == @ RM600 8 =RMI1000 &

RM 4 million from Company A + RM 6 million from Company B = RM 10 million
(B)A = # RM400  +B = # RM300 @ =RM700 @

RM 4 million from Company A + RM 3 million from Company B = RM7 million
(CO)A =7 RMI100 5 +B = & RM600 @ =RM700 &

RM 1 million from Company A + RM 6 million from Company B = RM 7 million
(D)A =~ @ RM280 @ +B 2t @ RM420 8 =RM700 §

RM 2.8 million from Company A + RM 4.2 million from Company B = RM 7 million

45. g o @ AT AR RS R
Based on which principle do the insurance companies provide compensation?
(A) &=~ 3#% RP| ;principle of utmost good faith
(B) #*& 1% & R ; principle of insurable interest
(C) 4p T 4 % R R ; principle of indemnity
(D) iT#]/R R ; principle of proximate cause
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46. 5 P RMBYE R AL TR RIRE ] D
Why is the risk of purchasing mutual funds smaller than shares?
(A) 3 * ™ ~iid % ; Low cost, high liquidity
(B) # * &% FI™ ; Low cost, managerial expertise
(C) ittt ~ 5 ~ 1“3 F ; Highliquidity, diversified investment
(D) & # ¢~ 5 L 4LF ; Managerial expertise, diversified investment

47-48 #7.3 Questions 47-48 form a set

BALE- LR Ao HAPERA S ] g 0TIl R 2P MR RAY iR A S

BRI P EFH 0 LA A F R 5 THIIRNALE R UER B R SR
B GRS L AR R FRY

BAAY GRS 2054 F, TAPPRP LI LATRAMNBLER BLG A B A TP

%K%@Bﬁ‘ T E TR ORE D RE R Fwo TP RS ARFRESCARTF P

EE PR

Mr. Gao, a businessman, whose company's performance is not quite satisfactory, sometimes faces financial
difficulties due to inadequate income. However, the company's financial condition is very healthy. Therefore,
he intends to apply for a commercial loan from financial institutions to upgrade equipment, improve
performance, and prepare for the upcoming Al era. After researching the loan application requirements of
several banks online, he decided to apply to Bank A.

Mr. Gao applied for a loan amount of RM200,000 and specified that the purpose of the loan was to upgrade
equipment to expand the business. He did not have a real estate as collateral or a guarantor. However, he
provided Bank A's loan department with bank statements for the past three months and a detailed investment
plan.

After reviewing the application, Bank A rejected the loan application.

47. Rt Bk > FF ARGFES FAY R F]v a0 £ A?
Based on the case above, what could be the reason for Bank A's rejection of the loan application?
(A) Zo @ Bina 4 3 &
The company has insufficient credit capacity.
(B) sZa @ 2 f F AR 4 3 A
The company and its team have insufficient financial management ability.
(C) 722 7 misd T ik A
The company has no collateral or guarantor
(D) %2 PRFHD 7 (717 &
The company’s project lacks feasibility and viability.

48. R B A2 Rdeiwicd VR FBER AT
How can Mr. Gao improve his chances of obtaining a loan successfully?
(A) 2 20 £%
Improve the company's performance
(B) #4117 o @ A g 2 SRR
Provide the bank with financial management and operational status of the company
(C) #-2 P et A fed # & 155 4 5
Pledge the company's movable and immovable properties as collateral
D) L= FTEPMF

Modify the contents of the investment plan
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SO RERAEAL B VRN T PARE R L
In order for a contract to be enforceable in a court of law the basic elements required are:
(A) §> &G F 2 8E 0 BM . FR G mUL TR
Offer, acceptance, legality, consideration (price), certainty, capacity
B) # > &R F 3L FARSZZ2EMG PHFER mE > 2 LFTR
Offer, acceptance intentlon to create legal relations, consideration (price), certainty, capacity
O P> &G P R ~FRLrE22EMG A& > 2TFTR
Offer, acceptance, 1ntent10n to create legal relations, no mistake, capacity
M) g > &F > F3 R I8KNL » PR mTE > 2TFR

Offer, acceptance, above 18 years old, consideration (price), certainty, capacity

JITHEFRMIOF ~E > c o @i f o B¢ RM7 F 5,000 ~ & % 4178 38 0 & 15 10% >
PR PR TARRE  20% 0 B L RN o 2 A f R D& fendpp s b )
9

Xiao Ping invested RM 100,000 to purchase shares of Formosa Plastics Corporation, of which RM 75,000
was borrowed from a bank at an annual interest rate of 10%. Xiao Ping expects a return on investment of
20%. Without considering taxes and without using leverage, what return rate does he require?

(A)12.5% (B)12.75% (C)17.5% (D)20%
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